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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)
Sub: Macro Economics

(Both Medium)
NOTE: All Questions Are Compulsory

AsH : 1 ol ol AT s

Unit: 1 : Money and National Income o &Y/
1) Bare] @AM wlsa HalerRD AR Al
o Explain the Fisher’s Equation of Exchange with Limitations.
2) 300%q] A5 YAd ulswel HalelRA Aldc Aol

e Explain the Cash Balance Equation by Cambridge with Limitations.
3) gl tatsell A1 Ul gl s Hielle(l @QAu WS Axe Al

e Whatis National Income ? Explain the Various method for measuring National Income.

AsU : 2: scAlRisad vt

Unit: 2 : Classical Economics
1) B.6(LA ol cRel Ran HAERD AR AxA AL

e Explain the ].B.Say’s law of Market with limitations.
2) WALl Adotsiu wal Adet URcdotalledlol Rttic yMesdl,

e Explain the Pigou’s Wage cut and Wage flexibility theory.
3) W.AAell Adetsiu Bal Actot URCdotallcddloll Rtuidol W.38.A scll sl saudl.

e Prof. Pigou’s Wage cut and Wage flexibility theory against argument by Prof.Keyne’s.

USH : 3 : AURA Aal ASLAL

Unit: 3 : Consumption and Investment
1) 38axell AuRag(Aell Ualldsll@s Rar W@ARAR Unendl

e Explain the Psychological law of Consumption by Keynes.
2) vALAL UMl 1) ARRAL UL g 2) fMid aurie gl

3) ARRAA A gfd 4) Ylidolud auriet gfd

¢ Explain the Concept:
1) Average Propensity to Consume (APC) 2) Marginal Propensity to Consume (MP(C)
3) Average Propensity to Save (APS) 4) Marginal Propensity to Save (MPS)

3) YSloll Auict stardloll ued WU Aol AUR sl URU AMe Al

e Give the meaning of marginal efficiency of capital and explain the factors affecting it.

AsH : 4 Ul - el ataatuRuefl wHRRU

Unit: 4 : Inflation
1) goUdl A=A g 7 goualloll UstAo{l uAl 52,

e Whatis Inflation ? Discuss the Types of Inflation.
2) goUcltel Gulot @A sele{l uAl 531 gouatal FAAA seltett uatetioll uul sA,

e Discuss the Causes for Inflation and Explain the Steps taken to Control Inflation.

3) Hel AeA 97 Uelott s1200 suucll Aol UUA AHM A

e Whatis meant by Deflation ? State its Causes and effects.

Skok koK ok ok ok ok ok sk sk ok ok ok ok k

1



SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)
Sub: Cost Accounting - 1 / usd? Gl ugl@ -1

(Both Medium)
NOTE: All Questions Are Compulsory

1. What is meant by Cost Accounting? Also state the objectives of Cost Accounting.
USAR (Bl N2A 97 Ame UsR [daell ugldott dqllell w2l 53,

2. Calculate the Economic Order Quantity (EOQ) from the following information:

1 | Annual Consumption | 10000 kgs.
2. Purchase Price per kgis 0.40 paisa

3. Cost of Carrying Inventory 10%

4. Ordering Cost Rs. 8

(Aol HIRA Ul €l a2l LN

1 aAllls cuRial 10000 (3A
2 (3AEls Bud ¥o dut

3 All¥s csctuil 0%

4 aRel Ysal Mol W 3. ¢

3. Write Short Note on: Co - Partnership
&5 ol vl : AseolelRl

4. Write Short Note on: Profit Sharing Plan
25 ol AUl : alSleloL A1%all

5. From the following information of Ravi Ltd., Calculate:
1) Time Wage
2) Piece Wage
3) Wages as per Halsey Premium Plan
4) Wages as per Rowan Premium Plan
Time Allowed - 10 hours
Time Taken - 8 hours
Wage Rate / Hour - Rs. 20

A @12 sell 1A MR A uell o1t 53U
Q) UH2A Actol
?) 52l Actet
3) dcll VIR Aogetl Yosod Actot
¥) Aot YIR2AM Ao otl Yoot Actot
ANAYHA - 10 sCsl
dRduma - ¢sas
SALSELS Aol €2 -3.R0
5. SDM Ltd. has three production departments A, B and C and two service departments X and Y. The following

information are available for the year ended on 31-03-2020.
Overhead Expenses:

Rent and Rates Rs. 60000
Insurance of Machine Rs. 24000
Canteen Expenses Rs. 25000
Stores Overhead Rs. 48000
Lighting Expenses Rs. 15000
Indirect Wages Rs. 55000
Depreciation on Machinery Rs. 120000
Power Rs. 84000
Contribution to ESI Rs. 12000




Other Information:

Particulars A B C X Y
Area Occupied 5000 3000 2000 1000 1000
Value of Machine Rs. 400000 | Rs.300000 | Rs.300000 | Rs.100000 | Rs.100000
No. of Workers 40 30 20 5 5
Direct Material 750000 600000 250000 - -

No. of Light Points 25 20 15 10 5
Direct Wages 450000 250000 200000 50000 50000
H.P of Machine 6 4 2 1 1

Prepare a statement showing distribution of overhead among various departments.

Aots (Q12sMi QL Geulest [Qeudll A, B, € Ul A Actl (Aetoll X HA Y B, cll. 31-03-200 oll A% YA Ucll

a 12 ol Aofl Al Guctou B:

wRAe wl:
alLg Aal ARl 3. 50000
Aol 1A 3.2¥000
$odlotoll w2l 3.2U000
Rl uRet wal 3.%¢000
flogell wd 3. 14000
uRlet 1ol 3. 44000
AAetl LLAULR 3. 120000
UleR 3. ¢¥000
SIHELR A% lHL 20 %eilell sLoll 3.42000

U WAL :
[a;)ld A B C X Y
ABc UL U000 3000 2000 1000 1000
2 o{l (B ¥00000 300000 300000 100000 100000
sIHELRe{l vl ¥0 30 0 u U
Ycuel HIAU ML YU0000 $00000 Y0000 -
lesoll Vool dvaul U 0 u 10 u
Yedet 1l ¥U0000 Y0000 00000 10000 U0000
Aol Sl waR S ¥ R q 1

QR Qewdll a2 et el slaael elcd uat dar s

6. Explain the difference between FIFO and LIFO Method.
S8l A lgl usldoll dstad Aol

7. Explain Different Elements of Cost
USARoll Hlclecl AL

skokskokook skok skokok skskosk sk skok ok




SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)
Sub: English & Commercial Communication-CC

(Both Medium)
NOTE: All Questions Are Compulsory

Q1. Discuss the story The Happy Prince in your own words
Or
Q1. Bring out the salient features of the story  I'M Hungry.

Q2. Discuss the theme of the story Letter of John D Johnston.
Or
Q2. Highlight the emotional bonding in My Grandmother.

Q3. Discuss Khushwant Singh as a short story writer.
Or
Q3. Discuss Abraham Lincoln as a statesman.

Q4. What is Netiquettes? Discuss the meaning and rule.
Or
Q4. Give a detailed analysis of Presentation Skills.

Q5. Write a detailed note on Leadership and its features.
Or
Q5. What is Time Management? Why it is so important? Discuss.
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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)
Sub: Taxation-I (English Medium)

NOTE: All Questions Are Compulsory

Q-1. Write Methods of Assessing Income Tax.

Q-2. Explain Tax planning, Tax Evasion and Tax avoidance.

Q-3. Write short noteon Settlement Commission.

Q-4. Explain Resident and Ordinarily Resident.

Q-5. Write short note. Permanent Account Number.
Q-6. Write short note on Income Tax Officers.

Q-7. Give ten instances of totally exempted from Tax.
Q-8. Write short note on Central Board of Direct Taxes

Q-9. Mr Nileseh( A specified Employee ) is the General Manager of Surya Co. Ltd. From the
following details compute the taxable income from salaries for the Assessment year 2022-23.

1. Basic Salary Rs 20,000 P.M.

2. Dearness Allowance Rs 2000 P.M. (Half of which is part of salary for retirement purpose)

3. House Rent Allowances Rs 6000 P.M. (Actual House Rent Paid at Ahmedabad Rs 6000 P.M.)
4. Education Allowance for two children Rs 600 P.M.

5. Transport Allowance Rs 2400 P.M.

6. Hostel Allowance for one child Rs 500 P.M.

7. Employer’s Contribution to Recognized Provident Fund - 12.5 %

8. Interest credited to the balance recognized Provident Fund @ 10% - Rs 50,000.

9.Rs 200 PM. is deducted from his salary as Professional Tax.

Q-10. Mr. Pareshbhai is owner of a house property. Determine Gross Annual value from the
following information.
1. Annual rent receivable Rs. 84,000.

2. Vacancy period 3 months.
3. Municipal Assessment Rs. 90,000.
4. Fair rent (Annual) Rs.85,000.

5. Standard Rent Rs 72000.
Also find Corrected Gross Annual Value if unrealized rent is Rs 21000.
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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)

Sub: 5221 URUa-1 (9s3Adl HItaUN)

YA ol Yol gl B.

. AlesARe(l pustell scltell ugldA Al
. 5ARUe] AlAYel, AR Aol 53U alnell [AA UM
ALt YA UR sl cull
A3 A UHLA A3AA A
. sl AsIGe ool UR gsolld Al
- llas AR WESIERA UR gsellu Aul.
- 2suuiel Ayel Yol e GELEWQL UL,
. Ycel AR ol HrAeU HSOL UR &solll AW,
Csll@at (@Rl skl Yal 5.4 ot Ao 8. oflA ofl WAl UR ol 25l ad 202:-23
HI2 AHoll 52 Uat Wl ofl oLl s
1. 4O WlR HIRs 3. R0000

O G 0 £ X W

. Wual eeg — MRS 2 2000 (B USl wstll 85U (Ag(Aetl cletell 2R3 W2 UdUR ol
@Ol oA B.)

3.4UeUSL 61ey — HIRS 3 S000 ( HUMELAE WA WRUHR YA U@L 3 S000)

¥. A Aclloll 12 Qe eey - WRSs 3 $00.

U, 2l ey - HIRS 3 1¢00

S. WS Acllol M2 Slect ™2y - HRAS 3 Y00

9. Hld YASs &5 ML H(As ol $LON — 1M % H¥o

¢. Hloedl YUASs §soll oSl uR 10% otl €2 ol UL UAA U 3. Y0000 Allell UIUR
HElHRs 3. 200 Yol claAAR ofl suld Udd B.

0. sl uRaeeS As Uslol oll HAS B. BA cdlcdl o{lAoll (QotAl uell N s yet otssl s3A.
L HaauA dllls ely 3. ¢¥000
2. Hslot wicll Rall oll MU 3 WAL

3. 1RARUA wus 3. €0000
¥ alsoll eug (s ) 3. CU000
u. s 32 3. 9000

ol GUASL ELHAL ML Ay olls A el 3 22000 8l dl YRy N s yea ugl otssl 53
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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)
Sub: Statistics (English Medium)

NOTE: All Questions Are Compulsory

Q-1
Q-2

Q-3

Q-4

Q-8

Define Random Experiment.

Explain the following terms:
1. Sample Space

2. Union Of Two events

3. Conditional probability
4. Independent events

If A, B, and C are three mutually exclusive and exhaustive events, examine whether the following
statements are true or false.

1. P(A)=0.5, P(B)=0.4, P(C)=0.2

2. P(A)=0.62, P(B)=0.48, P(C)=-0.10

3. P(A)=0.5, P(B)=0.4, P(ANB)=0.6

A box contains 5 black and 3 white balls. Another box contains 4 black and 5 white balls. One ball is
drawn from each bag, find the probability that they are of different colour.

Two cubical dice are thrown simultaneously. Find the probability of getting:
1) Total 9 2) Total at least 9.

For two events A & B, P(A) =2/5, P(B) =1/3, P(4 NB) = 2/3, find P(ANB), P(A/B), P(B/A) and P(A-B).
A principal is to be chosen from three persons A, B and C. Their chances of selection are in the
proportion 5: 2:3. The probabilities that the sports activities will be encouraged by these person
respectively %2, %2, %. If it is known that the sports activities encouraged. Find the probability that C is

selected as principal.

Define expected value of discrete variable and give its characteristics.

Q=9 Define probability distribution.

Q-10 Find the value of p and obtain mean and variance of x from the following probability distribution of x.

Xi

15

16

17

18

19

20

P(x);

0.04

0.19

3p

0.26

p

0.07

Q-11 Give the formula for calculating mean by using moments.
Q-12 What is skewness ? What are the types of skewness ?
Q-13 If for a data second and third central moments are 9 and -3. What is its coefficient of skewness?

Q-14 For a given data second and fourth central moments are 4 and 40 respectively. Find its coefficient of
kurtosis.

Q-15 The first two moments about origin are 2 and 8. Find the mean and variance of that data.
Q-16 Find first four raw moments about 15 for the observations 11, 12, 14, 16, 19.

Q-17 Find B and B, for the following frequency distribution.




Q-18 For the following probability distribution of a random variable, Obtain first four central moments.and - _

hence state the type of skewness.

X 1 2 3 4
P(x) 3/10 1/5 1/10 2/5

Q-19 When does negative binomial distribution become geometric distribution ? State the probabili"t-y'_'ﬁjab;
function, properties and uses of geometric distribution. T

Q-20 Ninety percent of mangoes are sweet in a lot. The quality of a mango can be known only by its taste.
A person requires 6 sweet mangoes. Find the probability of getting 6th sweet mango when 8th mango
is tasted.

Q-21 The probability that any bulb is defective in a lot is 0.1. Whether a bulb is defective or not can be
known only by testing it. A person requires 7 good bulbs. Find the probability that he will get 7th good
bulb on testing 9th bulb.

Q-22 The probability that a cricketer can hit a six on any ball is 1/3. Find the probability that he will hit 3rd
six on the 6th ball.

Q-23 80 per cent of the bulbs are defective in a big lot of bulbs. Bulbs are inspected one after the other from
the lot. Find the probability that the first non-defective bulb will be obtained on testing the tenth bulb.
Also find mean and variance of number of defective bulbs drawn before getting the first non-defective
bulb.

Q-24 For a negative binomial distribution, its mean and variance are 9 and 96 respectively. Find its
parameter.

Q-25 Explain
(1) Linear Function
(2) Quadratic Function
(3) Exponential Function

Q-26 Give the meaning of limit of a function.

2
Q-27 Find the value of lim * T2
x——7 x“+5x-14

3_
Q-28 Find the value of lim 2>
x—5 x<=25

. . 1 3
Q-29 Find the value of}(l_rg [ﬁ — m]

Q-30 Discuss continuity of following function at X=2 .
X%-4
=2 , X=2
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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)

Sub: wisslalA (Al HLLAM)

NOTE: All Questions Are Compulsory

Q-1 alewdls Yol ofl catvaul AW A yH Aelcdl el Aed g ?
Q-2 o{lAetl UEL AHAA:

1. oflesl Aasial

2. & Yeailall 2A9L

3. 2Rdl deudsll

R EEDERIEL

o iy

o

Q-3 %A B, UA CRAAY Ul URUR [Aars Yozl A A, ol Aol [Quuell A B 3 vilel AsA

1. P(A)=0.5, P(B)=0.4, P(C)=0.2
2. P(A)=0.62, P(B)=0.48, P(C)=-0.10
3. P(A)=0.5, P(B)=0.4, P(ANB)=0.6

Q-4 s WEHL 5 stowl A 3 U¥E €SL B, ol VEHL 4 slow Aol 5 UBE €5l B, % ol WML g0
AA As As €5l AalHl WA A olalesl AEL el Wlall dlalell Aeilcstl M.

Q-5 A UHUsl WAl AsAUA GolnclHl A 8 Al ARalol
(i) o (i) Ol AO ‘9 el delastl 2.

Q-6 A ueallRANA&B M2 ,P(A)=2/5,P(B) =1/3, P(4A NB) = 2/3, l P(ANB), P(A/B), P(B/A) 33l P(A-B) 21tl.

Q-7 s WetHl QAW UE H2oll QL GREAR A BuAC USl 518 uQl As Al Uie Ucoll B.AMA
UoEI(oll s ofsN 5:2:3 oll YHIRHL B.Q sl QRAWA ¥ e aad A HUAHAA ay
Ullgel HA Aol dAelcsll AofsA 15, %, % B4 W[eloll UMl YgRa Yllgel HwRjdld Al
QRwWA ¥ col uieall awa Aol deuast M.

Q=8 it Uctoll ol la wVeatloll cautvaul WD AUAB A BHcotl 2Ll seual.
Q-9 dellclell (AcRel ofl cavaul .

Q-10 AUERDsUAx of Aellcoll ARyl oA Yyt B, A p ol Slud A, WERDsUAK oll HEs U
YHIRt (Qauctet 2Kl

Xi

15

16

17

18

19

20

P(x);

0.04

0.19

3p

0.26

p

0.07

Q-11 el Meeell Hras uclle Yot QU A 58 Utld HBA ol QUL ol Wl 2 &, A
Alleclle] Yo wRUA,

Q-12 [AMHAl 9 B 7 [@AuHAl ol UsA decll B, sl sl ?
Q-13 As HBA 2 olly wa A Foklat utlld ol BUAd 9 -3 B.A @Auucls ol Bud 9 &2

Q-14 As HIBA uR olly wat’ Wl Jodlad Yl BofsN 4 Aol 40 B, Al Aol dalsRsclloll uis Ml



Q-15 %l GoHlg AU ofl yaur A yauld2ua 8 8. Al HRAl 12 Htas ua (Quel 0.
Q-16 11,12,14,16,19 WdAssll HI2 15 ofl oy ol yaur R AUEL yuldl Aadl

Q-17 ollAell HBA w2 g, uAB, oIl BHA A

Q-18

Q-19

Q-20

Q-21

Q-22

Q-23

Q-24
Q-25

Q-26

Q-27

Q-28

Q-29

X; 9 10 11 12 13
fi 1 3 7 3 1

Ws AW UA x of Acllcdoll [@AcRel oA g 8, Al yaud AR dodla yuldl AN el A
Ul [QuHdlell ysik wseudl.

X 1 2 3 4
P(x) 3/10 1/5 1/10 2/5

»R BUEl [@AdRel IRl [AdREMl sAuR 3UWdR WA 8?7 9BldR (AdR0le] deldell (AR, Asll
RLuHl A GUALL U,

slgdt 3ol @olclHl 90% B3R Hlel B, v Raial 3ot e ol Mok usdl otell. As cals
A 6 Hlol 33oll %32 B.Al vueHl 33 wwanell o8l Hl8l 33 U Aol ewaett A

s weUlMl luflotl 3eclls weot ML 58 Rl deet widlawl slat Aol etceoll 0.1 B, wen
w{laol @ A udlel  saell o MigH Ud Bals clsd A 7 wWiHlaoRell oleol ol %32 B. Al
ool olcotoll ASIAURL 5l arad W ceot wWiHl aoRell HAL Aol detcstt 20

(332 o0l As sesolr NSl sl8ugl estdl 9ol HZl A3 Aol dewcst 173 B, A ©gl sl A
sl 9200l HR Aol elastt WA

Qesollotl cleotoll As Hlel weulHl 80% oleot wiHlalnl .l A weanisll As ugdl As olent
YUslUAHL WA A YUH AR ot E¥HL YdolHl HOA Aol detlaetl Ul yuH AR oleol HA A
WIUE HAAl vilatol cleotoll dvalall Heaus Aol (QuReL URl Andl

As HOL BUEL [AdRel 2 HeaAs=9 A (AAWL= 36 B, Al dell YUAA 2.
SRR
(1) JRul (@A
2) Bl (@R
(3) dicisla (AR
(QRasll datoll el L
lim 2128 o Bud el

x——7 x2+5x-14

1im"3‘12255 ol Bud N

X5 x2—

lim [L— 3 ]cﬂ Bud Q4.

Xx-3 Lx-3  Xx2-3x

Q-30 X=2 AN oflAotl (AB2U] Al USIRAL

2_
f) ==, x<2

-2

=2 , X=2
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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)
Sub: Indian Financial System (et dla suquslal cacza)

(Both Medium)

T

/
{
|
\

NOTE: All Questions Are Compulsory W

=

Q-1) What do you mean by Financial System? Explain the structure of Indian Financial Market: =2~
slleusla caael Aed 9?7 Rl sllRucaciReule] Hioy Al LMl AHsLAl.

Q-2) Write notes on: Functions of Reserve Bank of India Functions of IRDA (Insurance
Regulatory Development Authority)

s ol Avll: Rod dlsatl stall, S2slatl stAl

Q-3) What is Debenture? Discuss the various types of Debentures.

SlAeUR A2A 9?7 SlAAR ol (AlAu ysiRAell AU 53,

Q-4) Write a brief note on: Treasury Bills (T-Bills)
s ol Avll: (A3 ollcdl

Q-5) Discuss in detail the new issue book building mechanism in India.
AURAML olall 8593 ofs (ARl 12l cacralsll [@Qatdalr uul s

Q-6) Discuss about types of stock exchanges in India (BSE, NSE, OTCEI)
QURAHL AR watRell YslA (A UL 5 (BSE, NSE, OTCEI)

Q-7) Explain in detail the functions of commercial banks.
AlRCAs dslell stal [@Qotdalr UHstAl.

Q-8) Discuss in detail the types of Insurance.
lHtett ustAell (Qotdc uAl 532
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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD
B. Com Sem-3 Assignment (Academic Year: 2023-24)
Sub: CORPORATE ACCOUNTING (English Medium)

NOTE: All Questions Are Compulsory

Q. 1 Explain in detail Factors Affecting Valuation of Goodwill.

Q. 2 Explain in detail Super Profit Method of Valuation of Goodwill.

Q. 3 Explain in detail Intrinsic Value method and Market Value method of Valuation of Share.
Q. 4 Write a Short note on Rebate of Bills Discounted.

Q.5 Write a Short note on Preferential Creditors.

Q.6 The following are the Balances appearing in the trial balance of Raj commercial bank as on 31-03-2011 :

Amount (Rs.)

Discount Received 4, 48,000

Bills discounted 11, 53,000

Rebate on Bills Discounted (1-04-2010) 32,000

Information of discounted bills is as follows :
Sr.No. | Amount of Bills (Rs.) Rate of Discount in % Due Date
(inclusive days of grace)

1. 2,19,000 8 30-04-2011
2. 2,19,000 9 14-05-2011
3. 3,65,000 7 30-05-2011
4, 3,50,000 6 12-06-2011

Prepare Rebate on Bills Discounted Account and Interest and Discount Account and Show the amount
to be transferred to P & L Account.

Q. 7 Mahaveer Company Ltd. went into voluntary liquidation on 01-04-2008. The balance sheet was as

under:

Particular Amount

(Rs.)

Non current Liability:
Share Capital: 1,50,000
10% preference share capital of Rs. 100 each 3,00,000
A Equity share of Rs. 100 each 2,70,000
B Equity share of Rs. 50 each
Long term Borrowing:
15% Debenture 3,00,000
Outstanding Interest on Debenture 22,500
Bank overdraft (against stock) 90,000
Current Liability:
Outstanding wages of worker 10,000
Outstanding salary of employees 20,000
Mortgage Loan (against investment) 27,500
Creditors 1,00,000
Total Liabilities 12,90,000
Non Current Assets:
Fix Assets:
Land & Building 4,80,830
Machinery 3,20,000
Non Current Investment:
Investment 30,000
Current Assets:
Stock 1,20,000
Debtors 2,50,000
Cash 89,170
Total Assets 12,90,000
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Additional Information :
(1) Assets Realise :

Rs.
Land & Building 6,90,000
Machinery 3,20,000
Stock 70,000
Debtors 2,50,000

(2) Liquidation expenses Rs. 1,487.

(3) Creditors (Loan mortgaged against investment) has sold investments at Rs. 28,500 and
returned surplus amount to the liquidator.

(4) All the liabilities were paid off on 30-09-2008.

(5) To pay preference shareholders dividend for one year.

(6) Local government Taxes of Rs. 5,000 was due during the last six months, included in the
creditors.

(7) Liquidators’ Remuneration :

1 % on the amount of Asset Realized.

3% on the amount paid to unsecured creditors.

2% on the amount paid to preference shareholders.
1% on the amount paid to equity shareholders.

(8) According to Articles of Association, the preference shareholders are entitled to 30% of the
surplus, if there is surplus left after paid up capital is returned to the equity shareholders.
Prepare Liquidator’s Final statement of Receipt & Payment. Give necessary workings as a
part of the answer.

Q.8 The following is the Balance sheet of Trishala ltd. as on 31 march 2019.

Liabilities Rs. Assets RS.
Paid up capital : Fixed Assets 10,00,000
'A' equity shares or RS. Current assets
100 each fully paid up 6,00,000 Including bank balance
RS. 1,00,000 6,00,000

'B' equity shares of RS. 3,00,000
100 each RS. 75 paid up
General reserve

Creditors 4,00,000
3,00,000

16,00,000 16,00,000
The Market value of all the assets of the company is 20% more than the book value the
average profit of the company after taxes at 35% is Rs. 1, 80,000 and expected rate of
return is 10%.

Calculate the value of both shares as per intrinsic value method & yield Method.

Q.9 Make the new format of Balance sheet & Profit and loss account of Banks with all schedules.

skskskkkoksk sk sk sk sk sk sksk sk sk sk
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